mzt%ﬁn-l_i

> IDIEST R b<-c(13,14,7,12,10,6,8,15,4,14,9,6,10,12,5,12,
8,8,12,15)

> IDEZET XN
(111314 71210 6 815 414 9 61012 512 8 81215

> mean(IDEFETAR)
[1110 #HIEBERFELH

> var(IDIEZET AR)*(length(ID BT X M)-1)/length(1I0 8
T RN #HEKRDE

[1] 11.1

>sqrt(11.1)

[1] 3.331666 #HIZAXRIZHERE




BEKEq = 0.01 THETE

> gnorm(0.005)
[1] -2.575829
> gnorm(0.995)
[1] 2.575829

R : Z2<-2.575829, 2.575829<7Z
7=-2.828427 < -2.575829 > ZEH]



o
}ll"l‘

FZN(10.5, 11)¢éLT-BE

>z F<-mean(IDEBET XK)-10.5

> z7
[1] -0

>zhE
>z E

F
.5

[1] 0.7416198

> zii et E<-z0 F/z7 E

> z#f
[1] -0

A
.6741999

<-sgrt(11/length(iDEZFETAR))

BEIK#Ea = 0.05[ZxLT

-1.959964 < -0.6741999 < 1.959964

= AN

(278U (BRIR

(2 D) >R



